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SELECT A.ZUONR AS OrderNo
O[5} 4=k

FROM HANDW.HANDW.HANDWADM.BSID AS A WITH (NOLOCK)
LEFT JOIN HANDW.HANDW.HANDWADM.VBRP AS B WITH (NOLOCK) ON A.BELNR = B.VBELN AND
B.POSNR % 100 = 0
WHERE A.BUDAT BETWEEN @sDate + ' 00:00:00.000' AND @eDate + ' 23:59:59.999'

AND A.KUNNR IN (SELECT RetailStoreCd FROM @SaleChnlﬁT)

AND A.BLART IN ('RV', 'DR')
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2131234 1 | -—Remote Query (SOURCE: (HANDW), QUERY: (SELECT
"Tb11003"."VBELN" "Co0l1115","Tb11003"."FKIMG"

"C011117","Tb11003"."MATNR" ,"Co0l1118","Tb11003"."ARKTX"
"Col11119","Tb11003"."KZWI1" "Coll1120" rroM "HANDW"."HANDWADM"."VBRP"
"Tb11003" WITH (NOLOCK) WHERE CONVERT (int,"Tb11003"."POSNR",0)%(100)=(0) ORDER BY

"Colll1l5™ ASC))
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select COUNT (*)
select COUNT (*)

DBCC freeproccache

#HIAE 2>

from test29.Northwind.dbo.customers

from test29.Northwind.dbo.orders

select * from test29.Northwind.dbo.customers a

left outer join test29.Northwind.dbo.orders b

on a.customerid

= b.customerid

-y
—- 186,734 A

where a.phone in (select phone from customers2 where customerid <> 'RICAR' )

TEST29 MY customers E|0| &

NODE1\REP AH 2| customers2 E| 0|1t TEST29 MH 2| customers H|0|2 HE & LX|s}
0 ‘RICAR’ 245 H|elgh A4 S9| 28RS &Qlohk= #2|0|Ch

#AAH 2 A" . 2%

6512 1 | --Merge Join(Left Outer Join,

90 1 | =—Sort (ORDER

BY: ([test29]. [Northwind] . [dbo] . [customers]. [CustomerID] ASC))

90 1 | | --Merge Join (Inner Join,

90 1 | | -=Sort (DISTINCT ORDER

BY: ([T10]. [dbo]. [customers2]. [Phone] ASC))

90 1 | | |--Table Scan (OBJECT: ([T10]. [dbo]. [customers2])

0 0 | | ——Compute

91 1 | | -——Remote Query (SOURCE: (test29), QUERY: (SELECT

0 0 | ——Compute

186734 1 | -—Remote Query (SOURCE: (test29), QUERY: (SELECT

"Tb11003"."OrderID"

#10 or THAIZH >

(6512 0| S-S )
H|O|& 'customers'. HME1,
1oB 22|H87|%0, o O/2|2

(10 70| FESH )
(17hgo|de2es)
SQL Server HAAIZE:

cpu AlZt= 921

CEERESY

2a|=, ZIAIZE= 20083

% 91 7, orders HIO|= 186,734 7.

=21H8i7|%=0, DIEI&7I=0,

171 0.

SEIES
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[EventClass |Reads | Writes | TextData
SQL:StmtCompleted 2 0 SELECT "Tbl1003", "OrderlD” 'Collml“ “Tbl1003", "CustomerlD” "Col1062","Tbl
Execution Plan Execution Tree -----—--—-——-- Sort{ORDE ([TbI1003]. [CustomerlD]

RPC:Completed 570462 0 declare @P1 int set @PI-S declare @P2 int set @P2=180150001 declare @H
RPC:Completed 3 0 exec sp_cursorfetch 180150001, 16, 1, 1
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 2, 100
RPC:Completed 3 0 exec sp-cursorfetch 180150001, 16, 102, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 202, 100
RPC:Completed 3 0 exec sp_cursorfetch 180150001, 16, 302, 100
RPC:Completed 2 0 exec sp-cursorfetch 180150001, 16, 402, 100
RPC:Completed 3 0 exec sp_cursorfetch 180150001, 16, 502, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 602, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 702, 100
RPC:Completed 3 0 exec sp_cursorfetch 180150001, 16, 802, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 902, 100
RPC:Completed 3 0 exec sp_cursorfetch 180150001, 16, 1002, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 1102, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 1202, 100
RPC:Completed 2 0 exec sp_cursorfetch 180150001, 16, 1302, 100
RPC:Completed 2 0 exec sp-cursorfetch 180150001, 16, 1402, 100
RPC.:Camnleted 3 n exer sn rirsarfetrh fmlﬂ'l'l'll 1R 1502 10N

4 2
xecution Tree

ort(ORDEH BY( Tbl1003] &L‘us‘mmerlbi

|--Table Scan( BJECT:([Northwind]. [dbo], [0rders] AS [Tbl1003]))

43, UEY /0 & XAzt g = e £FMS oW EXNE 2T = U2 AO|CL

S A Ofzf2t 20| NODE1\REP AMHOA] ZZA|HE 2F s WA S Z NODE1\REP A{H 0]
UAE AAE MHE A, TEST29 AHO|CH NODE1\REP MH{ 29| HZAE MHE T3}
Of TEST29 AMH O A NODE1\REP AMH customers2 H|O|&2] 91 748 Remote Query Z0
ZOIE| =2 QE3lRCt O Z1f, Zot 2t 6512 7T NODE1\REP AH 2 2| EHA| |2 X
MH{ZH0] HES 1I/0 242t HES 2t40] Dizst AAE M AFE2 22X 0|A Z|RUCt

NODE1\REP TEST29 NODE1\REP TEST29

# HAE >

NODE1\REP AJH{Of Of2ff ZZA|ME HHStD TEST20 MHOME ZZAIHE Y.
-- TEST29 : N ZEEAN M4d

create procedure Lk

as
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select * into #tmp from (select phone from [nodel\rep].T10.dbo.customers
where customerid <> 'RICAR') a

select * from customers a left outer join orders b

on a.customerid = b.customerid

where a.phone in (select phone from #tmp);

-- NODEI\REP : NZ ZZA|H A

execute test29.Northwind..Lk

AH 2 A= >
6512
6512

select * from {IRowset 0x20E2A58100000000}

1
1 | -——Remote Scan (OBJECT: (STREAM) )

(6512 7O FtSE )
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AM W& =2/ 2|(AE_2)E 22 AHAIA H&A 22 WS Yot 2 EACL 5,
Cursorfetch SEHAICZ QI5t Nt st Y E2 /0 7t QIS LN F= SAHREI &2

Ct.

xecution Tree
Hash Match(Left Outer Join. HASH: rEaé[CustomerlD]):v [b] {Cus!omeriDg RESIDUAL:([a]. [CustomerlD]=[b] [CustomeriD]))
| —-Bookmark Lookup(BOOKMARK:( [Bmk] ). Northwind], [dbo], [Customers] AS [al))
| |-—-Nested Loops(Inner Join, OUTER REFER ([ mp], [phone]))
I-—Sorl(DIS INCT ORDER BY:([#mp]
di

| X

| | ([ 1 L#m)

: I--Index Saek(OBJECTI([Northwind] (dbo].[C '§o[nb‘n]ers] [Phone] AS [al). SEEK:([a], [Phone]=[#mp). (phone]) ORDERED FORWARD)
e

g
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wecufion Tree
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i [Morthwind], [dbol. [Custorners] &5 [al3)

#mpl, [phonedd)

[S9)]

7
([
5
[#trmpl )
1.[Custormers], [Phonel &5 [al), SEEK:([a], [Phaone]

rs] A5 [b1))

!

| -—Sor{DI=
| —-Index Se

——Bookmark Lookup(B
| —-Mested Loo

o}x| of

A3 A|Z¢0] o 40 B 712 A

|2 2AAS A 7Hset

.
o

o=

OtF2| FOof i Al

=3
ki
=

B3

<fu

=E[00] X 2

L
[

2 23

SHAY.

528 | 2013 7| &9 A White Paper



